A4 x ol diote] x -2 =3 - x> —V-9 +V-16 & a + bi T& 1}
Ehd W a+ b 9] B Tk

® -5 @ 2x-4 ® 2x
@ 2x -5 B 0



a, b9

=11
=

=
=

a, b7} A5 W, (a+ 26)(3+4i) + 5(1 - bi) = 02 Tk

2.

V-1)

ol 2 (2

@ 2 ® 3 @ 4 ® 5

1



3. 2= o ol Wole] - 2043 91 WL (hi= vT)

@D 0 ® 1 3 2 @ 3 B -1



HOP=Divz = (b4 1) -
whol Elotel o s pel )

50 thote] 7 =z 7t



5. xol gk oA A] kx? + (2k+1)x+6 =02 37} 2, ¥ W, k+a
o] & ohH?

@D -1 @2 -2 3 -3 @ -4 B -5



® 5 A 6 @ 7

A 4



7. ARRPEAA x4 8 - Ta? - x4+ 6 =02 T FOlA Hoe] 27

D -2 ® -1 3 0 @ 6 B 2



xoll Bt o] AR A 42+ 2ax+9 - 202 = 00] A o, f5 71 W,
o? + 429 AEGE Ftolek. (2 ok AF)

e =
-



9. xy7h A4 T, —x -y — dx+ 6y - 129] HAZHE?

D -2 ® -1 3 0 @ 1 B 2



10. ?—x+1=0¢ o, x°* 9] gk Fsloizt

& e
c



WA xy + 2x = 3y + 102
o}, aB 9] gk Fotoi et

b

O E

]_

-



